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Question Answer Mark Mark scheme Additional guidance  

22 (a) Sketch M1 for correct shape for 0 ≤ x ≤ 360 

 

 

       A1 for fully correct sketch with labels at 1 and –1 

 

 

 (b) 210, 330 M1 for one correct solution 

or for 
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sin30
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=   

 

Can be implied by x = –30 

   A1 cao 

 

 

23  –5 P1 for x2 + y2 = 125  or  52 + 102 (= 125)  

 

 

   P1 for process to find y coordinate of Q, eg 2( ) 125 ( 2) − −  

 

 

   P1 for selecting 2125 ( 2)− − −  eg y = –11 

 

 

   P1 (dep P2) for process to find y intercept, 

eg 
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− −
 (= 3) and substitutes x = 5, y = 10 in y = “3”x + k 
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or [y] + 
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7
× (10 – [y]) 

 

 
 
Where [y] is their y coordinate of Q 

   A1 cao 

 

 

 




